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QUESTION 1

Identify two features of an "Independent" value set. (Choose two.) 

A. The values are stored in a product applications table. 

B. There is a predefined list of values for a segment. 

C. The values are stored in an Oracle Application Object Library table. 

D. You can enter a value other than those in the predefined list of values. 

Correct Answer: BC 

 

 

QUESTION 2

Identify the platform that hosts the workflow engine, and the Business Event System. 

A. Oracle Database 

B. Workflow Manager 

C. Oracle HTTP Server 

D. Oracle Application Server 

Correct Answer: A 

 

 

QUESTION 3

Identify two types of regions in Daily Business Intelligence from the list below. (Choose two.) 

A. menu 

B. table 

C. folder 

D. report 

E. graph 

Correct Answer: BE 

 

 



QUESTION 4

Can a menu be copied? 

A. no 

B. yes 

C. yes, by using System Administrator Responsibility 

D. yes, by using System Administration Responsibility 

Correct Answer: A 

 

 

QUESTION 5

ABC Corp. has set up the accounting key flexfield. It has also set up a descriptive flexfield to store vehicle information
associated with the asset category "Vehicle". Identify three correct statements. (Choose three.) 

A. The descriptiveflexfield is called an "intelligent key structure." 

B. The descriptiveflexfield for the asset category "Vehicle" appears as a normal field on a form. 

C. The descriptiveflexfield for the asset category "Vehicle" captures only additional information. 

D. You can define cross-validation rules to control the allowable combinations of segment values for the
Accountingflexfield. 

E. The combination of values in the accountingflexfield identifies a particular business entity or class of entities. 

Correct Answer: CDE 

 

 

QUESTION 6

Identify three features of a Balancing entity. (Choose three.) 

A. Balance sheets are prepared for a balancing entity 

B. A Legal Entity may comprise one or more than one balancing segments. 

C. Multiple balancing entities within the same Operating Unit structure is not supported. 

D. It is represented as a balancing segment value in the accountingflexfield structure. 

E. 11i Oracle Applications automatically secures balancing segment values within your chart of accounts with specific
Legal Entities or Operating Units. 

Correct Answer: ABD 



 

 

QUESTION 7

Identify two correct options regarding event subscriptions. (Choose two.) 

A. They are defined in the Workflow Manager. 

B. They are triggered by the Workflow Engine. 

C. They can be enabled, disabled, or modified. 

D. They can define multiple subscriptions to an event. 

E. All subscriptions can be either enabled or disabled but never modified. 

Correct Answer: CD 

 

 

QUESTION 8

is a specified condition found during an alert check. 

A. Action 

B. Action Set 

C. Exception 

D. Response Set 

Correct Answer: C 

 

 

QUESTION 9

Which option describes a group of segments? 

A. values 

B. value set 

C. flexfield structure 

D. both structure and values 

Correct Answer: C 

 



 

QUESTION 10

Which two statements are true about Oracle Workflow and/or Oracle Alerts? (Choose two.) 

A. Workflow can support complex conditional logic. 

B. Alerts can be configured for any frequency of occurrence. 

C. Workflows can wait for a user response during an activity. 

D. Alerts run only when a database record is either updated or created. 

Correct Answer: AC 

 

 

QUESTION 11

Which two statements are true about the interaction between the Notification System and the Workflow Engine?
(Choose two.) 

A. The Notification System relays user responses back to the Workflow Engine. 

B. The Notification System communicates the event raised by the Business Event System to the Workflow Engine. 

C. The Workflow Engine sends information to the Notification Mailer program, and then informs the Notification System
about this communication. 

D. The Workflow Engine informs the Notification System to deliver notifications to a user if an activity requires human
intervention. 

E. The Notification System informs the Workflow Engine about the user to whom the notification needs to be sent. 

Correct Answer: AD 

 

 

QUESTION 12

As a system administrator, you have to set a profile option specific to an operating unit. Which Profile Hierarchy Level
would you choose? 

A. Site Level 

B. User Level 

C. Application Level 

D. Organization Level 

Correct Answer: D 
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